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E @ Simplifying Polynomials

Name: Date: Score:
ox + 3x% — 4(2x + 5x) + ox? 4(7x2 + 9x2) — 7%+ 8 — 6x?
43+ T+ 2(5x — 4x3) T+ 2% +x+ 58 - 3x°
560 4+ 0 — 4 — 4% + 8 8x — 3% + Tx° + 4(7x3 — 8x3)
x+ 76 = Sx+ Tx—3x° 33+ 4x% + 5 + 2(8x — 5x3)
7+ 6x— 58 + 2(8x + 9x2) 5x¢° — 8% — 2(x3 - 5x)+ 7x?
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Simplifying Polynomials

Name:

0 + 3x% — 4(2x + 5x) + 92
o + 1222 — 28x

X2+ 3x+ 70 + 2(5x—4x3)
—> + 2% + 13x

500+ X0 — 4 — 4x% + 8x°
14x°> — 8x?

x+ 7 = S5x+ Tx—3x2
7 — 3% + 3x

7+ 6x— 5% + 2(8x + 9x2)
20 + 18 +22x

Date: Score:

(732 + 9x%) — T + 8x° — 6x?
8x° + 512

T+ 26 +x+ 5% — 3x2
14x° — 3% +x

8x — 3% + T + 4(7x° — 8x°)
—4x3 + 4% + 8x

3 + 4 + 50 + 2(8x — 5x3)
—2x3 + 4x% + 16x

5 — 8¢ — 2()(3 - 5x)+ 7x?
3x° — & + 10x
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